BB ERRE - RER

4R 5A 64 1R 8H 9A 10AR 1A 124 1H 2R 3A
ARR|RER|ERR|RER|AFRR| RER|AFRR| RER|ARER | RER|ARER| RER|ARE | RER|ARR | RER|ARR | RER|ARR | RER| AR | RER|ARR | REX
2016 9.3] 5.6] 10.6] 6.2] 10.2] 5.6 16| 7.71 9.9 4] 85| 55| 72| 48] 10.1] 6.3 9] 58] 75| 42 111 55| 75| 28
2017 8.1 3.8] 8.8 34| 91 2] 95 2] 10.6] 3.2 10| 351 76| 29| 49| 17| 6.1] 28| 65| 37| 11.2] 36 12 4
2018 116 46] 87| 1.2] 29| 1.2] 63| 14] 94| 28 71 1.2} 53 04] 55 1| 3.7 1.8 28| 14} 43| 12| 28] 1.1
2019 6.3] 23] 23| 04] 18] 09
B
BEERE (%)= FAEBDEHZRARESE x 100 BREHEERER (%)= REHDOREZAIRESE x 100
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